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Answers

1.      10     

2.    75,382   

3.    6,930    

4.    839.72   

5.      10     

6.    69,251   

7.    80,580   

8.    118.3    

9.    694.61   

10.     100     

11.   776.255   

12.     100     

13.    1,000    

14.    525.3    

15.    39,230   

16.      10     

17.    626.4    

18.      10     

19.    36,570   

20.   126,832   

Use decimal multiplication and division rules to fill in the blank.

1) 367.75×     10      = 3,677.5

2)    75,382   ÷100 = 753.82

3) 69.3×100 =    6,930    

4) 839,720÷1,000 =    839.72   

5) 484.44×     10      = 4,844.4

6)    69,251   ÷100 = 692.51

7)    80,580   ÷100 = 805.8

8)    118.3    ×1,000 = 118,300

9) 6,946.1÷10 =    694.61   

10) 397.799×    100      = 39,779.9

11) 7,762.55÷10 =   776.255   

12) 22,020÷    100      = 220.2

13) 745,259÷   1,000     = 745.259

14)    525.3    ×10 = 5,253

15) 392.3×100 =    39,230   

16) 5,848.4÷     10      = 584.84

17) 626,400÷1,000 =    626.4    

18) 471.771×     10      = 4,717.71

19)    36,570   ÷1,000 = 36.57

20) 126.832×1,000 =   126,832   
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